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PROGRESS CHECK TWO: 4 Year Old Blank Questions

Student’'s Name: Date:

Test administered by:

1. Put the picture of the playground in front of the child.
2. Ask the child to look at the picture.

3. Ask the child the four questions and tick whether the response is adequate or inadequate.

Test Questions

1. (Level 2) Tell me, where is the Mum sitting?

Tick | Child's response:

Adequate response On the bench; she’s sitting on the bench; on the seat.

She’s reading; the Mum is there (points); she's watching the kids; points to the lady

Inadequate response but does not say anything or says ‘here’.

2. (Level 2) How are the dog and the bird different?

Tick | Child's response:

The bird can fly and the dog can't; the dog is bigger and the bird is smaller; the
Adequate response bird is smaller than the dog; the dog is on the ground and the bird is in the sky;
the dog has fur and the bird has feathers.

They are the same; they are animals; it's doing that and the dog is here; they are

Inadequate response both different; they're not the same; this one is up.

3. (Level 3) Here is a car and here is a bike. They both have wheels. What else has got wheels?

Tick | Child's response:

Adequate response A truck; a scooter; a bus; a digger; a pram.

Inadequate response The car has more wheels; a car; a bike; so it can go; | don't know.

4.  (Level 3) Point to a child, but not one on the slide.

Tick | Child's response:

Adequate response (Child points to either the child on the swing or the child on the rings).
Inadequate response (Child points to child on the slide or the mother).
Summary: Level 2 /2
Level 3 /2
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